[image: image1.jpg]1L BT PG 3% 2008 ERFENNR 2008.5
M= BEAENRENSEER
— HRE GLs AN, |4, 320D

Ee |1 2 3 4 5 6 7
ER A B B e C &
—. HEE GLt4ANNE, 4G, 165 '
9.40%; 10.1; 11.1000; 12.2"-1.
ZREE :
13. (@i 55
1‘erﬁ:(—;-)‘z +27 =(x-T7)° +tan60".
ml:(%)‘2 +427 =(x=7)° +tan 60’
20+ JFE $ 4 = 4%
=§+4+/3. 59
714. (RS 550
< 3x+2y=T————— )
il {2x+3y=8 ————— )
: ()x2=(2)X3 8 y=2.memmmememememnaeee 3 4.
TR TGV - & P— 4%,
“l
m{z ) RSB 5 5.
15. (F@Hs5 53
m-1 m’ -4 =
B > $ by b - ’ = 3 g
R e T T 3
om=1 m-4 1
" m+2 m2—12m+1 Sy
m-1 (m+2)(m-2) )
= : ; D(m - -
AL e SR e s <
=(m—-2)(m+1)
=m’-m-2. il A

%20 mad A RRBEDY Y3 =2 =1 =B e 8 5.





[image: image2.jpg]16.3EW: AABC R&EHM=MATY, LACB=90
. AC=CB. 14 :

-+ ZACB=£DCE =90, % : “
ARG, ORI DEB i B E

7EAACEFABCDH £

AC =CB,

LACE = 4£BCD,

EC = DC.
.. AMACE = ABCD. 457
5 LB=LZEAC, S

1748 x=0 REFEMMR, - m -2m=-3=0.

@ m=3m,=-1. 2%,

.

b —dac =[-2(m+1)]" —4(m* —2m—3)=16m+ 16.-wwrremmmmev 3 4.

R ETARLEMER, . b —4ac>0,816m+16> 0,8 m > —1. --reeeeev 4 4.

W et m=—-1,8m=3 HHFK.—emeeeeeee- 5 4%,
VO AR :

18.f%(1)" M. H 4352 AD, BD HIH &,

- MH Il 4B, MH=%AB, .................. s

» AB=4,

~MH=2. h 2 4.

(@)i# HN, ff HQ L MN 3 MN F i Qureereeemeemees 3 4. A

FIZE(1) AT %1, HN/DC,HN=2.

M

-+ HO L MN, ~ . C

+ ZABD=30", £BDC=90",

. AMHN RSB =4%, LZMHN =120".

- HOW- 97 ZMHN NQ=QM. 4 »5}.

- MH=2, ZMHQ = 60,

- MQ = HM sin60°=+/3 .. MN = 2MQ = 23 ooreremmrremeeemeeee 545




[image: image3.jpg]19. iF#: %4 OC,BF. 14,
(1) GE £it A C 100 V14,

- OC LGE B LACG + LOCA=90".
.+ AB £ OO0 HHZ,A0=0C,C HE A LK—,
- JACB=90",/BAC = LOCA.

-+ /B+£CAB=90,

o AB=LACG 3 4.
(2)'+ RtAACB ,AB=6,BC=3,

+ ZCAB=30".
-+ /B=/£ACG,AD LGE,

. LCAD=30". 4 4.

. ZCAD+ £CAB=60".
-+ AB £O0 MER,

- LAFB=90".

w AB=6,

- AF = AB-cos60°=3. 5 4%,

f. WREEGE 2 MEIE9 )
20. (FHEHS 44)

#:(1) B (3,333), B (3, -3V3) oo 24},
@8 P(3,33) KAy = —x+m B Bm=3+33.

# P,(3,-3\3) RN y = —x +m f8 m =3 =33 e 44, A D
21. (AEEWH S 5 91)
i1 W BM=-1-(a +b), ¥4 AMAM $EBTE ABCD 7 E A

AR IS T
Fii 2: (B DC M R G,;L‘IGYFEF//AB)LBCT‘ﬁF)LADH’J A /D E
ERLTRE. %
()¥% 45 AFBE #iZX TR O..
()it O 4 E L MN 5 AD,BC #% FAM. N MN 3—7]
EP3E#ETY ABCD 4 AT AR SF OB AT
BB () FADTT IR EHSE B SRR Y.

(2) i IE A R VLA T VR4 3
N R TR(A S 6 1)





[image: image4.jpg]22.f7:(1) WRE . ZFEA KW T IREET 40x92=3680(JT).

b & [ TR SL AT LL1544:5000 — 3680=1320(JT). 2

Q)% R 24 x N(HITR 46<x<90), 1] Z KA A (92-X) N -mmmmmmem 3 4.

WHEE  50x+60x (92 —x)=5000. Lad

W x=52, 1 92—x=40. ;

2 KA 52 N, ZKH 40 A 5 4>,

(3)i% 40 TT— IR E 91 EIRILE A . 6 43

7/

( Bt F: R KA 9 4R ¥if LS Bk LA RS I W B 43 N, 285
40 A.
W& 50x (43+40)=4150(7T). ;
WERETEE 91 ERET 40x91=3640(JT).
Rk 4150>3640,57 LOEFEIEE 91 ERFER A ER).
. REB (B T2
23. (@75
(1) 7£ PA Fi PC MUZEK L L4 HU M. N {f AM=AE,
CN=CF, ' 14
“* AP+AE=CP+CF,
. PN=PM.
" PE=PF,
- PUis T EMEN £ 47847, 245,
- ".ME=FN,ZEMA = ZCNF . Ll
-+ ZAME = ZAEM ,ZCNF = ZCFN, Mé—"-"’—" """ ;
.. AEAM = AFCN .
. AM=CN.
“» PM=PN,
.. PA=PC. N
(2)*- PA=PC EP=PF,
- Wi AFCE AT UL .
.. AE//CF. :
*+ LPED = /PFB', - £EPD = /ZFEPB:: EP=PF,
.. APED = APFB.
4 DP=PB,Hi(1)%1 PA=PC.
- P34 ABCD J9-FAT ILiLTE. 6 4.

-* AB=15,AD=12, Z/DAB = 60",

. WUi7% ABCD MIEHH 903 ‘ 7%.

24. (1) BH y=ax® —2amx +am® +2m+1=a(x-m)’ +2m+1,

UL, Jusk C T A (m, 2m+) . 2 4.
@) ME,FE A A BXETAP (1, 3) ALK, EPELy #ITAE,
fEAF Ly 8T 5 F, WK1 ABPE <> ABAF BT LA, AF=2PE, B} m=2.-------- 3 4.





[image: image5.jpg]2m+1=km+bh,

P (1,3),A02, )W HEL AP MIFEHTRA y=koctbJ8 AP IALEIAAS {3 o

=

FrLl k=2, b=1. 1 E 4k AB IR y=2x+1,18 84k C, (T AU A44R 2 B(O,1).------ 4 4.

Bk Cpn C, KT AP B OXTHR, BT LI B9 TF DK ANEIRL T AR R,

’

BC,HRRAR y = —ax’ +1 ‘ 54,

(3% RtAABF o, B% AB=<2? +42 =25 <5 BiLUR e AB=AC HIfi 5.
% AABC 5B = St LA WL F IR |
DR 1,1 C(x,0).2 BC=AB=2v/5 11 0C=v/BC* ~0B* =19,
B C(\ﬁB,O).X C(\/1_9—,O)?EEy=f—\ax2+1_|:,Dl'Ja=%. -------- 6 53
@& 2,4 AC=BC, ®C (x, 0, fEADLx#IT & D,
£ ARtOBC #, BC* =x"+1;

fE RtAADC %, AC* = (x~-2)* +25.

mxl+l=(x-2)"+25, iR x=7.

Bk C(7,0)¢E y = —ax® +1 £ 7L a=21§.

g bl A AABC REB=FTUH a (EFP:
1 1

: a1=‘16,a2='4—9- """""" 7%.

25.(1) . /Niaf ABCDEF 4 IE/NIUTE,
LEANABH120.

-+ ZFMH =120",A. M. BE—%&H& L,

. LAFM + LFMA= LFMA+ ZBMH = 60 .

.. ZAFM=/BMH.

(¥ 18:FM=MH.

@ M 555 A BAH, LFMB=120" MB 5 BQZA H 55 B A A FM=MH,—4 4.
@LAM 54 A REAH,

45 FB HFIEKE G ff BG=BH, %45 MG.---------- 55,

"+ /BAF =120" ,AF=AB,




[image: image6.jpg]. ZAFB=/FBA=30".

BH = BG,
- { /MBH = ZMBG,
MB = MB.

;. AMBH = AMBG .
.. ZMHB = ZMGB MH=MG. 19

LAFM = /BMH , ZHMB+/ZMHB=30",
. ZGMB + ZMGB =30".

‘+ LAFM + ZMFB =30,

LMFB = ZMGB.
.. FM=MG=MH. 8 7.

LTF@MAM 54 A REARMIEE 2
# AR _LAUR FP=MB,JE4 PM.v-mmeeenee 5 4.

-+ AF = AB,FP = MB,

.. PA=AM. F
w LA=120",
, AM B N
s LAPM = %(180" ~120")=30" 5 LFPM =150". ’
'+ BOF4y ZCBN
. ZMBQ =120" +30° =150 # LFPM = LMBH -~ 6 4.

-+ ()4, £LPFM = LHMB,
.. AFPM < AMBH .- 140

.. FM =MH . 8 71.





